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Necessary conditions for optimality:
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- appropriate transversality condition
-

St

lim C Wits Wits =
O

two 8

Themem 7 1s in Acemogen (200s)
Themem 7.14 in Acemogle (2009) -> any interin

solution to necessary conditions is global maximum.
tulen equation:
· WHWc = 0 =8x8x< h-UtCiteOR)O

=>ca
2 = U., [I+23@4K]

· 2H/5w =5.Rt - Fits =8wit-writ) + WitsWts= drot
=>t:[8-rits] W-s'l wit-with

special case w/ T = 0, 0= 0:

cits
- I/h

-Uits standard EndeS 8= [S-ri+17 Wits ↓ equation.

2.ow-Si =>

= 2/r-6)


